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o
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AREA / DISCIPLINE SPECIFIC
1 PeTeT f(x)=2x"-3x? =363 +2 Wxar | 1. The function f(x)= 23‘c3 -3x? - 36x+2 has

A

L T &l its maxima at X °

(@ FaFx=0 () x=0 only vy (/\

®)  F x=-2 (b x=-2only B
© @ x=-2 3R x=3 (¢) both x=-2 and x=3 a"

v [

(d) FFT x=3 \(ﬁ)\ x =3 only
7{

X

The table below gives values of a function

[GESICITer] ToRTe] R
FIROM, 0.25 & et W x & F(x) obtained for values of x at interva}%éb
{

F T wrea o F(x) &1 A &ar of 0.25.

gl X: [0] 025 [05]075] 1.0

X: 0] 025 [05]075] 1.0 F(x) :|1]0.9412]0.8]0.64]0.50

F(x) :|1]0.9412|0.8|0.64 | 050 The value of the integral of the function
between the limits 0 to 1 using Simpson's |

Wmﬂmﬂmgoal rule is
F TAHT F G99 Tl F GHAGAS T AT
2T T
(a) 0.7854 (a) 0.7854
(b) 2.3562 (b) 2.3562
(c) 3.1416 © 3.1416
(d) 7.5000 - (d) 7.5000

3. UEY A UF WET ¥F & 5 €& F W uewar | 3. Pipe A can fill an empty tank in 5 hours,
while pipe B can empty the full tank in

g, Safe 9T B !13‘ &F @ 6 HC H Eﬁﬁ 6 hours. If both are opened at the same
FT TEaT g J9 &F ardr g, e g=r time when the tank is empty, how much

@ v & @Eg # grer S :oar time is required to fill the tank full?
o1 AL ; frgar AT T ?
i (a) 10 hours

(a) 108
() 309 ~—tby— 30 hours
(¢) 256C () 25 hours
(d) 329¢ (d) 32 hours
)
rar ‘ww.d (Rfae)-2023 .
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U 20 HI A @ 20005 & AT ey | T A 20 m chain was found to be 10 c¢m Jong
after chaining a distance of 2000 m. It was

F g 10 ¥ Far
AP L i5Y found to be 18 cm long at the end of the

4000 Hr $r el &l AT T & A Ry F days work after chaining a total distance
of 4000 m. What is the true distance, if

3T A/ 18 WA ST grT AW A wdr gl

the correct chain was used for the

TE, AR A T F AT 2 measurement work?
39919 T T am)|

(a) 3962 #r (@ 3962m

(b) 4019 = (b) 4019m

() 3981 #r (c) 3981m ¢

(d) 4038 #Hr (d) 4038 m

8. uig T aTd dT 9¥ H, 3ifge wree 1 | 8. In a closed traverse with five sides, the
R FofiEr 3R 3% Fafer § o = I error found from the fore bearing and

back bearing of last line is +2°. Calculate

+2° ¥| TedE oIS #H AT S are gur the correction to be applied for each line.
T oA F

() 024 T~aL 0024’

L) 0°48 by 0°48

(© 0°40 © 040 i

d) 1°36° (@) 1°8¢°
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9 g mERE Y AR 7 8 FW 9. Which of the following is not a natural

S AR AR error in compass surveying?
! (a) TUET WHEOT Fer T @AY F (a) Due to proximity of local attraction
;- =TT forces
(®) f_{ﬁ Sl gl & HROT ™) Pivot being bent
(@ FFEH af@qs () Variation in declination
(d) 3Fd F § F$ FG (d) None of the above
10. #Id BM & T& AT ﬁg FT RL =nfdg | 10. The method of carrying levels and
F= 3T 999 F = Y R establishing the RL of a new point from 2
known BM is
gl
() TATE F TAIAT (a) Establishment of benchmark
) wE ST \Q Fly levelling
() waw JfeT (¢) Level setting
(d) 3'21?23?[ Y FS A8 (d) None of the above
11. 3aaa & fav @@ OeAEsa qsr;ﬁgn 11. The correct prismoidal formula for volume
_ 7 o
. . 1 D [first .
(i) D [vyA &7 + Hfa#w &7 + ¥ "7 ¢ are[auf2 §r§3d+aig§z]area ¥ Even
&8y +2 ¥ faus &9 (i) D/3 [first area + last area + 4 Y. Even
() D/3 (A 8 + A 8T 4y | g AeAF 2T odd areas]
(1)) D/3 [first area + last area + 2 ¥, Even
87 + 27 faud &) ~ area+4 7Y odd areas]
(i) D/3 [T 87 + 33 89 +2 7Gx (iv) D/6 [first area + last area + 2 ¥, Even
87 + 4y YR &) area + 4 ) odd areas]
(iv) D/6 [99A &7 + H[dH 8T +2 ¥ ¥
&7 +4 Y fawA &)
(=) 0 @ O
Q.0 A G
© () © (i)
(d) (v)

(d) (v)
ICRB-dwfas arfdvaar waah (Rifre)-2023
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WMC ‘
fere BIS #rg 4926 ¥ Aqare | 12, The general requirement as per B[S code
AT 3raegarar g Tifda U R 4926 for RMC is that concrete shall be
AN frr sk GliEn) T T 3 discharged frpm the trgck-mixer within
Tef & _ Te—— time of loading without using
X h-Fag ¥ Fhre Fr e retarding admixtures,
ST gy
@ 30 E ,(a) 30 min
© 90 fiwe © 90 min
@ 120 fAee (d) 120 min
18. ww 3T ST oy Sd 24 €€ & v 9l F | 13, A good brick, when immersed in water for
§a‘r fear Frar g, ar = & 24 hours, should not absorb more than
3T Tl wher Ry
(a) 39 ASH Tl F 15% (@  15% of its dry weight
(b)  HIF e TorT @7 20% /Jﬂ) 20% of its dry weight
() 39 q:[(—-zq T FT 20% (©)  20% of its saturated weight
(d) 319a e g9t FT 20% )K(;h 20% of its wet weight
4. T & NE=wy Fo v d|f qr —— | 14, IS‘;‘I‘;lgslty reinforced beams are designed to
FT 9T T F AT Reze s ¥
: ¢ Bendi d Buckling onl
(@) had dda AR dHfelT & faw (@)  Bending and Buckling only
T & foT (b)  Shear and Torsion only
(b) Fad FIEIT IR A
© s Zheferer HidE & AT () Torsional moments only
0 ; IQEYUT g & ) Bending moment and shear force
(d) Fder e FHC AR only
forw
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15. The effective moment of inertia I. of a

15.Rcaﬁﬂ$mmﬁmﬁwmm :
3Eor | 8 cracked section in RC beam 1s
(a) O &R e 3T Tl a7 e ard 7@) Always less than MI of fully cracked
T & MI @ & FA and gross uncracked section
®) C'T\U‘f T g AT £ MI & sarer 3R ) Always more than MI of fully
cracked and less than  gross
?:? LA L 5 " uncracked section
EHRT H
(©) TJ'T @R} a3 3R Pl ICGIRCEES (c) Always more than MI of fully
ar H/ET dr MI X g S cracked and gross uncracked section
@ wof @R arel $r MI & gaen @ Always equal to the MI of fully
cracked section

AT
What is the bending moment to be

resisted by a footing of size 25 m X 25 m
m x-0.5 m,

16. 900 kNm: F & @@ W Lo

0.5m x 0.5m & FI I -“ I @ A supporting a column of 0.5
92.5m X 2.5m 3THR & tljﬁ?f -G /e subject to a soil pressure of 200 kN/m??

fomar T el dd ST T &7

(a) 200kN.m (a) 200 kN.m
(b) 250 kN.m (b) 250 kN.m
() 275kN.m (¢ 275 kN.m

(d) 225kN.m

(d 225kN.m

17. What is the inter-storey drift limitation

17. #fw &1 Far$ & IS 1893:2016 FEU A - il
e 0 s 9 3 47 g 1
(a) 0.4% (@ 0.4%
(b) 0.35% (b) 0.85%
() 0.2% 0.2%
(d) 0.5% @) 0.5%

ICRB-¥fas wfiraar ‘va.d. (RAfdw)-2028 8
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18. s1aet % T Jefy BoTSA F Herd AT & 18. Basic virtues of earthquake resistant
a9 design of bulldmg ] .
(a) Good structural configuration
Lateral stiffness and strength

(@) WE FLGARd TEIT
b) wTREE HOReT AT FASLH (b)

() Collapse mechanism

(¢ 9ael a
(@ FogFT Tl @5 All the above

Select incorrect statement for Tri-calcium

19. grg-hfRmA wfFme (CaA) % fyw e | 19
AT FT TIT HL aluminate (CsA)
Reacts fast with water

(a) ST & WY SIedT HERAT AT & (a)
~~@) Generates less heat of hydration
() Causes initial se
strength of cement

tting and early

(d) Does not contribute to develop

@ @ ufFa & fawd #F deeE T8
ultimate strength

the construction of thin R.C.C.

20. ggel R.C.C. et & A & faw, | 20. For
the type of cement to be

e 1 e & 2 Qe
(a) WHET qrédz 9T ?ﬁ) Ordinary Portland cement
() M3 HEGE AT Xb) Rapid hardening cement
© ©r &rc AT () Low heat cement
(d) Blast furnace slag cement

(@) e weE T T

The light weight aggregates are obtained

)@ & arse d¢ IEdCE A 21.
/-4%'1}3{1?1’%! | from

l,(a) afzdd a8 (1) (a) Sedimentary rocks
) FerfhE T (3FH)

u ' (¢) Igneous rocks

~{d)__Volcanic source

(b) Metamorphic rocks

(©
@ drewes @ (1)

ICRB-W wfadr g4’ (FaR@-2023 o
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22, SN U ffafEa 7 @ W

fo¥eit €l & &l

(2) e gy

®) §I33eT HHT FT 3

(c) B3 & AU 3Uesy ST A

(d) AT (TIRER) HIFdA

NDT Hedidal 3 PUNDIT &7 Fded &

(a) UTe  IoglfEE  Hle-sTgided
AT ST

b) dEd  ogEieE  dAl-Segided
e T

© e eodew  Al-stciaed
SRR T

@ I9EFT H A FS &

F ST @@ ¥ f@w, RMC ME Tm’
FHe F WY o 9 &0 § ugdl, AR

Sohfera & T Jmaehr wfafsar #ar gef?

(a) IET FT FIEA Fr AT G

(b) 3 de Be & egaeyr & 3R
FAIE Fr At &

(©) Wﬁﬂéﬁ,éﬂmaﬁﬂﬁr{
FeTe e @ giud w4

(d) 3= GreT a1 Fhie At

[CRB-&7fara wfdrgar ‘ea. . (Fafaw)-2023
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22.

23.

24.

Gel/space ratio is NOT dependent on
which of the following

Cement content

(a)

)
(c)

Fraction of cement hydrated

Water  volume available  for
hydration

Aggregate volume

(d)

In NDT evaluation, PUNDIT stands for

‘(u{
2\

(©)

Portable Ultrasonic Non-Destructive
Investigation Test

Portable Ultrasonic Non-Destructive
Indicator Test

Portable Ultrasonic Non-Destructive
Inference Test

None of the above

(d

In a construction site, the RMC vehicle
arrived two hours late with 7 m? of
concrete. As a site engineer, what will be

your action?

(a) Allow the vehicle for concreting
(b) Make arrangement to add - more +
cement and allow concreting <
%\ Stop the vehicle, Reject the batch
and inform the competent authority
(d) Send the concrete to other site
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26.

27,

28.
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: ‘ inimum V¢
URfBF Fed waw W MR N warg ar | 25 ij!gin”l’pcak flow is ——— m/sec
gy A WA A
(@ 3.0 (a) 3.0
®) 25 Kp) 2.5
(¢ 1.0 @ 1.0
@ 0.6 S 06
SR ST Sae @7 Seawefaar & faw | 26 Minimum level of oxygen (as mg/) In
e water bodies for survival of aquatic life 10
S PERb § RN (mgd A) T India is
ATH TR gl
(@ 8 (a) 8
® 6 (b) 6
(© 4 ~No 4
@ 2 d 2
HETT 2.09) TMETS F AT 16 Hier 27. A sedimentation tank has a diameter of
ay Ush 3ayes & &7 ydig &7 5 MLD 16 meters with average depth of 2.0 m
% ar et o . and rate of flow is 5 MLD. The detention
) Iy (f3éee) 3rafer period in hours is
gl 5y
(a) 1.23
1.23
®) 1.66 % 1.66
() 1.72 © 1.72
(d 1.93 (d 1.93
% 3 ()’
m FN&, ST ged TW@T Fr fafya | 28 Tbe variogs factors which control
;¥ highway alignment are : N i
. . (i) Obligatory points A
(f? sifard fag (i) Traffic
(i) argrETd () (iii) Geometric design
(i) sfANT fBas
() Fad @) @ (@) only
e .- (
(b)  Fae (i) 3R Gii) (®) (i) and (i) only
) %ad (i) A @) (@ (i) and (iii) only
@ @), () I Gid) ~d) (@), (i) and (iid)

11
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30.

31.

3§ FeuaF ARl FRE A GEAE F,
wanfad X Bl

(a) e & A3

(b) arIgAA Rt

(© SN F TR Ud I 9T f; gl

d) =T S

EET 33T F HOTFAT § ¢

() NI ¥ FAS JI THE ®T F €
ST §

(i) fAeadt o ¥ T o ;AT A
g8 § U d9Iige

(i) IS T AT I F 3T wdl F;
8 ¥ Udl T gl &al d1igT

(a) Fao (i) 3R (D)

(b) Fad (i) 3R (i)

(© &aa (i) 3R (iii)

(d) Faa (i), (i) 3R (i)

HIEAT 0.0000006 WV?2 &

fow sifdenfa gl

(a) BV F FROT FicRITHAT

(b) gl & FROT FfcRrerear

(c) argHSAT Al

(d) F9EFd A FI$ AL

ICRB-3mfas sifdrgar o .4l (Rfae)-2023
Scientist/Engineer ‘SC’ (Civil)-2023
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29,

30.

Identify the most significant factor, which

affect the design and performance of rigid

pavements

@ Grade of concrete

(b) Temperature variation

(c) Type of joints and their spacing

(d) Wheel load

The requirements of highway drainage

are:

() The surface water from the
carriageway is effectively drained off

(i) The surface water from the
adjoining land should be prevented
from entering the roadway

(iii) Seepage and other sources of
underground  water should be
effectively intercepted and drained
off

(a) (i) and (iii) only

(b) (@) and (i) only

() (i) and (iii) only

N (@), () and (iii)

31.

The formula 0.0000006 WV2 is the

expression for

\(q) Resistance due to gradients
(b)
©
(d)

Resistance due to curves
Atmospheric Resistance

None of the above
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9 A WA WA B owa W 3t efeess | 82, I the Jiquid limit and plastic limit of a

5 0
FAM: 45% 3R 32% B, @ IS asffawor fine-grained soil —are 45% an'd 32%
respectively, what is the type of soil as per

QO & 3% DIRSER
AR A &1 9r Fa7 §7 IS classification system
(1) MH (a) MH
() CL () CL
© CI e —CI
@ Ml (@ MI

33. S A aw "ﬁﬁ”ﬂ F TF W E, ar arex | 33 When the water table is at the base of the -

footing, the water table correction factors,

ST FXFUT BT, Ry I Rg § R and Ruz are
() 13R 05 (@) 1land0.5
®) 13Rk1 () 1landl

© 0.5 3R 1 y 0.5and 1

d)_. 0.5and0.5

d 0.5 3K 05 >(<

34. Fl?[‘?T A W Pud ' #ed BT & 34. For a rigid footing resting on a satgrati_ad
B “ﬁ. v A % clay, the contact pressure on the footing is

(a) At w  HfEwaH I Fg A (a) maximum at the edges and

minimum at the centre

r'\
b) Fx ¥ 3ffegy IR R W ﬂaf maximum at the centre and
minimum at the edges
(@) G @r q:p:c@' iz & o @ (©) uniform for the entire width of
"~ footing
d TF fpay WX OEaA 3R E{H’Y (d) maximum at one edge and minimum
- at the other edge

[CRB-37nfaa fvdar ‘wa.dr’ (Fafae)-2023 |3
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35. gEew & FRu, Ref dw W e

gl gara
() ©ear @
) dedl &
() TA ®/AT &
) T ST &

36. TH TEFA dHfhe ¥ FA AGRA 9UNG
W Y @ S|
(a) TATT ST H MRS

b) Fitaw TEE
(c) ¥ AT
d) HET TS

37. RFeAr g 7 Uisd I 9T 9§ &THAT &l
HFdd T & v O I arer Sai@r
ETHAT & ‘N’ &l

(a) 7
(b) 5.14
(c) b5.7
d 9

38. frm ¥ @NT deie # #fér Fa FUiRa
frar S TahdT g7
(a) f@HcE 390
() o FefIE 39T
() FFpecdE I9aoT
(d) EFHT ITaT

ICRB-dafas sfergar ‘vg.d (RAfae)-2023 14
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35. Due to cohesion, the passive earth
pressure on the retaining wall

(a) decreases
\ﬂi) increases
(¢) remain same

(d) becomes zero

36. The total active thrust in a cohesive
backfill will become zero at

(a) depth of tension cracks
L) critical depth
(¢ ground surface

(d) mid depth

37. The bearing capacity factor ‘Nc’ to be
taken for estimating the load carrying
capacity of pile in clayey soil is

(a) 7
~Q}< 5.14
o) 5.7
@ 9

38. Setting time of cement can be determined
using

“tal. Vicat’s Apparatus
(b) Le Chatelier's Apparatus
(c) Briquette's Apparatus
(d) Hoffmann Apparatus

Vi,
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40.

e @t 7 el 3 M Renfws
F Fog w7 R oS E oar ot

WfaReaar fr | & FA@r ¥
ST gl

(a) 8

b)) 5

() 6

(d) 3ETea HiFD

T T & Hlod & Ta O W e
IR e et & ool FgRa w@r =
¥ AR =¥ Fad o & Rl FaRa
frar amr &, wg q@t A W giwde &
fore AFa g1 FaHd & w1 FRE &
FHA: Agifas 3R Bamsa (18:800- 200
gl
(a) 1.0 3T 1.2
(h) 1.0 3 1.0
() 1.2 3R 1.0

1.2 3l 1.2

Hlel

(d)

ICRB-&mfas sifogar ‘waw. . (Fafaw)-2023
Scientist/Engineer ‘SC’ (Civil)-2023
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—

For the frame shown below, If the axial
shear deformations in different
members of the frame are assumed to be
negligible, the reduction in the degree of
kinematic indeterminacy would be equal

=i

and

Ly 8 '
b 5
() 6

(d) Data insufficient

A steel column is restrained against both
translation and rotation at one end and is
restrained only against rotation but free
to translate at the other end. Theoretical
and design (IS:800-2007) values,
respectively, of effective length factor of
the column are

3
(b)

(¢) 1.2and 1.0

1.0 and 1.2

1.0 and 1.0

(d) 1.2and1.2

-
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1. p A 1 gwe dREeA & Yy, vay=2, 41. With a 1 unit change in b, what is the
a1]. ™ C ( ' .
. o ¥ JATdT change in x in the solution of the system
1 01x+099y=0b FEor 9ald = of equations x+ y=2, 1.01x+0.90y =57
A x & ofade a0 87
(n) zero
(a) LI :
M 2T (b) 2 units

() 5s0TfeaT (c) 50 units

(d 100 e (d) 100 units

42. What is the derivative of f(x)=l¢ at

42, f(x)=|x| at x =07 F HIFIS T £ 2
x=07
@ 1 (a) 1
=1 ®) -1

O c) 0
(@) ST A0 %d) Does not exist

43. A= ZT9d whewt & ugfad W far | 43 Consider the system of simultaneous

equations
N q
x+2y+z=6
x+2y+2=6
i ’ 2x+y+2z=6
23 "":\"'::'—‘G x+)!+z—5

x+y+z2=D
This system has

zH ggfd A

(a) 3gfadg AU (a)  Unique solution

() fafyaa grgr & AU (b) Infinite number of solutions
(c) @I A el (¢) No solution

(d) %Fri—pr 21 gAY (d) Exactly two solutions
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B

=R s W RAar &Y

() I Wesd TEAT 2000 A Ty P

() Iy Wesw & 2000 3R 4000 ¥
dra &

(i) Tf ¥HTegd HEAT 4000 T Hfow &

AR 9T A/ ey Yaw & v gt

V&l 91 FuT 78 ¥ 2

(@) @)
®d)  Gi)
() (i)

@ 39Fd F ¥ BE

T Gol & # o 39S & mremw @ 5w
TR A fBRR gaw wr owmr ¥ ¥
2 W BT &1 geawr ¥ R g,
Sroufd PEe 074 W3 F@ Swear ¥
3UdFd gisgiias ufa & v, 3w & o
& &g dF o ITEs Auiia w5y

(a) 6.0HT

(b) 4.8

() 9.6HT

(dy 2.9

yaified vd foR oi@ # A=fafaa 7 ¥
Fladr Folr facaA=T gl 87

(a) diX 3T Aifddrg =

(b) FEHET FoAl

() ifasr 3 ufasr st

(d) s-aria o

ICRB-A=fare afdar wa.H.’ (Ffae)-2023
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44. Consider the following statements:
(i)  If the Reynolds number is less than
2000
(i) I the Reynolds number is between
2000 and 4000
~Thi) If the Reynolds number is greater
than 4000
Which of these statements is correct for
a Turbulent flow in Circular Pipe?

(@
(®) @
() (i)

(d) None of the above

45. In an open tank, water level is maintained
at a constant level through a supply of
water. The tank is provided -circular
opening of 2 ¢m radius which discharges
0.74 m3 water per minute. Determine the
depth from the top to the centre of the
opening for the above hydraulic condition?

(a) 6.0m
(b) 4.8m
(c) 96m
@ 29m
46. TFlov - and stored water posses which of
the ~ing energies?

(a) Solar and nuclear energy
(b) Thermal energy
ey Kinetic and potential energy

(d)  Geothermal energy
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47.

48.

49.

Fte W EERfaE e A, A F P
SR wF dwa W G @ & W
T FEd 67 ‘

(a) 3T 5&C

b) JR UHA 39

(c) T

(d) TFdsHC

W@rﬂﬁﬁﬁﬂ%mﬁﬁm‘é
25 Y. ¥, arer &7 @ & 2.56 F7 AR
g9 ¢ 3R 39 Y & 3 W e
T gt A WwEd & T 7 Begd
frgr ar g1 a aiw T ST A
s faaeir 87

(a) 64 #Hr

(b) 40 #Hr

(c) 164 #r

(d 80 #r

fdg “A” & RL, S & W &, 110 A ¢
IR “A” W ¥F @se AT 2.635 AL B
aﬁﬁg“B”a‘r%a—dqr%Wqﬂmst
@ 2575 #r & o fdg “‘B” & RL
—— @

(a) 112.635HT

(b) 107.365 HI

(¢) 110.000 #Hr

(d 115.270 H
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47,

It

48.

49.

e

In the cross drainage Hydraulic structure
which carries a canal above drainage 1s

termed as?

(a)

Drainage duct

(b) Super Passage duct
(¢) Aquifer
Aqueduct

The base width of a soil gravity dam 1s
95 m, the material of the dam has a
scific gravity of 2.56 and the dam is
signed as an elementary profile
ignoring uplift. What is the approximate
allowable height of the dam?

(a) 64m
(b) 40m
(¢ 164 m
(d 80m

The R.L, of the point “A” which is on the
floor is 110 m and back sight reading on
“A” 1s 2.635 m. If the foresight reading on
the point “B” which is on the ceiling is
2.575 m, the R.L. of point “B” will be

(a) 112.635m
®) 107.365 m
() 110.000 m

115.270 m
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50. Wy SN ~~HH‘1-(A
b i i“-ﬂ 4
ot R e i RED %%{f@a 50. I'ollowin.g offsets were taken from a
‘“"‘“\*1% sur\'ov]nu‘t&llhedf:&___
@ (JNET \T\r\\ﬁ Distance ] -
N 01 5 |10] 15 a9 | B inmeters) | 0| 5 10|15 |20 | 30| 40
o T =t—beel ]
Offsets
e ] -
e —1 | (inmeters) | 4 [35| 5 [55| 8|6 | o
L L1 I
(Hrex ) 1135] 5 |55 8161 g The area between Survey line and hedge j-
(by trapezoidal method)
wﬁ‘_‘\““‘*‘-Lg—La_
N e
T & e ¥ .
(ST Ryfy am) ¢
=3
@) 452 @ 452 Sqmt
®) 542 g ) 542 Sqmt
© 254 sy (©) 254 Sqmt
(d) 245 gatsy (d) 245 Sqmt
ol FIRT ¥ gy H AT W 1. What is Chain Angle wity regard b
Surveying?
(@)  Hrel f@r oy it &1 Ao FET Measuring the distances on straight
line (
Mb)  FEag @ jorg qﬁ'a‘[ BT AYT e (b)  Measuring  the distances  op
perpendicular line
(¢©) T 9T a"\ﬁq} FT AMTT FHET () Measuring the distances at the
corner
(d) 3% pl-s e & (d)  None of the above
52. 100 Kmph # Ramewr afy 3k 010 % 52. What shallhbe the radliuz of horizogta}
; curve of a highway wit esign speed o
qregd gdor TIE A O EEd & e 100 Kmph and coefficient of lateral
gATa &1 Bsar fhaer gefre friction 0.10? P
° E = () .700m
(a) " (b) 800 m
) 800 © 650m
(c) 650 #r (@ 850 m
(d) 850 #r

ICRB-dwfae wfdrgar ‘wa.dl (w2028 g
Scientist/Engineer ‘SC’ (Civil)-2023
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53. The correct volume of concrete for the
footing size indicated below.

53. Ay gt a8 gfear we & fav &b @
FET AT FT 8§72

Im |2m
im  |2m T
im
2m
2m im
im
im
R 0.4m !
0.4m I | 2m
2Zm
(a) 1.20 Cum (a) 1.20 Cum
(b) 2.40 Cum (b) 2.40 Cum
(¢) 0.80 Cum (c) 0.80 Cum
(d 3.20 Cum Jd)  3.20 Cum
54. gt @sHr & IE.TH. FZ 1200 (A9 $r | 54. For plas;clering, wl(‘llat is t};e dgdfvixctl}:u L0 ;e
made where window is fixed flush to the
ﬁ'ﬂT)-a-T HFER 1.00 x 1.50 o R wall surface for opening of size
BT F BT dOR @de W T § 1.00 x 1.50 m as per IS code 1200 (mode of
frem fear TET L Flen o measurement).
feseaa fRaT ST 87
(@) @ER I TH @H FERE R ST (a) Deduction is made on one face of the
. wall
®) &ER Qe e Bzae CRIRSIG (b) Deduction is made on both the face
5 of the wall
¢ 3[R #1 & TE feeger g Sar (cf‘ Detlilucgion is made on one face of the
) . wall, but the area of sill, jamb and
g, Td siafear & A, ;ﬁ R soffits of the opening is added
HifFhe &1 &% ST 3T ¢l
(d) &Er 1 g e BEFee R S (d) Deduction is made on both the face
; - of the wall, but the area of sill, jamb
& g 1 fod, R 3 and soffits of the opening is added
giowe &7 STE SAIST SArdr gl

ICRB-dwnfas sforgar ‘wa. .’ (RAfde)-2023 99
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93, 40 mm ghided ®ay 3k Fe 500 ag | 55. What is the depth of neutral axis of a
\ anced secti f 340 .mm depth with
RErone &g & 3. balanced section o | ;
' WA 340 mm 31?07;',' & 40mm effective cover and Fe 500 grade
SO JFA F ed ufFwm EIGRAES reinforcement steel?
T }?
(@) 142 mm (a) 142 mm
r
®) 150 mm (b) 150 mm
© 138 mm (¢) 138 mm
(d 125 mm '(;}f 125 mm
5% TUUTEwr gt ufy & Yy 5Aler | 56. What is the depth of the beam required
3 from vertical deflection limit criteria as
fArar & =
_qu- ® AT IS 456 2000 % per IS 456 2000, for a beam of 5Mts span
HER 3[‘-‘_-,””35 dre AT TS —— with simply supported condition?
&l
(a 200 mm (a) 200 mm
(b) 250 mm w 250 mm
() 300 mm (¢ 300 mm
(d) 350 mm (d 350 mm
5. — ¥ Jaa rs9ea @ & | 57. Ductile detailing is provided in the
| 5T RC T 5 e ;ig i(l}deitructure to enhance performance
v FUAT FACT B
(a) wfdea gatagor (@) Harsh environment
() oFFT /@ Earthquakes
(c) 3T dUAT (¢)  High temperature
d) sl @ (d Heavy load

ICRB-d=nfas sfgar ‘ow. 1.’ (Rfae)-2023
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=
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RITTEN TEST I SCRUITMENT TO THE POST OF
I'TEN TEST FOR RECRU NT T
W iSClr-ZI\ITISTJ'E\{GINEER ‘b__(_._ﬁ(b(;[_i\l.lﬁ_:gng

% 3gEGUT &9 A e | 98 Whatiis the equiv

alent shear in a beam of
d to a shear force

el width 300 mm subjecte
st 60 kN.m s T T 300 L of 100 kN and Torsional moment of
St ¥ @F A TEGEd HUEWO I g 60 kN.m?
87
(a) 450kN (a) 450 kN
® 420 kN N  420kN
() 380kN (c)" 380kN
(d) 360KkN (d 360 kN
59. IS 456:2000 & IER G ¥ Ay & | 59 Asper IS 456:2000, regarding thickness of
2 b edge of footing consider the following

- F AT H, - assertions

e & Assertion1 : In reinforced concrete
o . Reews e e W footings, the thickness at
N e B 7 the edge shall be not less
frsr = J“iiEHII & fau than 150 mm for footings
A 9 ﬁlalé 150 mm & - ;)n soils s ; ”
: ssertion 2 : In plain/unreinforce
FH AR &M ) concrete  footings, the
3o us 20 FHaOE/ REews Fic thickness at the edge shall
févw #, A W g & be not less than 100 mm
! = for footings on soils
for R W ArR Which one of the following statements is
100 mm ¥ HH el gl CORRECT?
frfafad U« # ¥ FHiaar TE &7
(@) FFEyE (1) IR APEya (2 ot (a) Both Assertion (1) and Assertion (2)
e & are False
b) HEEYT (1) T AR FAFYA Q) (b) Ass_ertion (1) is True and Assertion
el s (2) is False
() HFFuA (1) IR fFya (2) &t "t Both Assertion (1) and Assertion (2)
T are True
(d) HEFYT (1) 7Tdd & HR HHFYT (2) (d) Assertion (1) 1s False and Assertion

(2) is True

e e
ICRB-dafa® sffgar ‘wa. . (Rfaw)-2023
Scientist/Engineer ‘SC’ (Civil)-2023
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UO. &a; 3{ 3
W dFfae T 3 umgr | 60. Crack Arrest mechanism is observed in
ST @)
(@) ) i o A res
b :51::‘?:‘5 G . (n)  High Strength Conerete
) RGPS : .
. CH-HIARFEN Tl \(.1)) Self-compacting concrete
.’ )
@ Wuhsrqﬂﬂ:‘é Fshre (c) Fibre reinforced concrete
) S-aier S0 (d)  Geo-polymer concrete
6l. s :
S ﬁfg?T EED (3175) 3, GGIRY 61. On a grading curve, the gap grading is
AT Y AT Srar 2 represented by
(@) &S Yar (a) A horizontal line
(b)  ItanE Yy ~&k) A vertical line
((:i) 3.9, T @ (c) N.W.inclined line
d 39 3=g Yar (d) N.E.inclined line
62. s
FAHr R 7y A &gl Jrar g afy | 62. A flaky aggregate 1s said to be elongated if
=HET TS 9 its length is
(@ 3NugsyEr s ST (a) Equal to the mean size
) 9T 3T T E'T{]D?IT (b) Twice the mean size
(© 3a 3R =7 fearam ~{c)—Thrice the mean size
d) 3T IR 7T O T (d) Four times the mean size
63. C-S-H & faor & v UisaTafas far | 63. The pozzolanic action for formation of
T AT § @ e : R S [(;I?H 1s represented best by which of the
: ollowin
TF F =/ S g :
(a) Ca(OH):+ vfafsamier m L2977 Ca(OH): + Reactive Superplasticiser
+H:0 = C-S.-H +Hsl) = C-84H
(b) Ca(OH): + uwfaframie e (b)  Ca(OH): + Reactive Silicon dioxide +
srpsffEFaTEs + Ha0 = C-S-H e
() Ca(OH): + wfafFansher sifFarssw + (¢} Ca(OH): + Reactive Oxides + H.0 =
H:0 = C-S-H e
(d) Ca(OH): + ufafFaRid Tewy + (d) Ca(OH): + Reactive Sulphur + H20
H.0 = C-S-H i

ICRB-darfas aforgar ‘vw.#. (dfaw)-2023
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64. FF 3IYUR (AT )
¥ T s R S el
() AR For @ asa
(b) FEET A | fAwmY
© T e
(d) I9UR ¥ a5 ST F TeAcger P
G5. araet WRRaT ST A HioRed —— fadred
gar gl
(a) FTEA-ETS-HFATSS
(b)  FTEA-3S-3FAES AR AT
(¢ IFdREr IR T
(d) TR
66. TR, S AEET T F S GIST YOI
# MM A F AT AT R ST g
(a) AT
) eoiA-fafea=w
(c) T
(d)y Qs
67. uifted (Fradd) STl O FIT acdd g
(a) 3cgfus e Oy AR gity Iea ST
(b) A & AT
(c) aTRer &r qredr

(d) gt AR faREd gfFERe denf
& e ST

ICRB-d=nfars yfdgar ‘vw. 4.’ (Fafae)-2023
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Flash Mixer in water treatment is usaed

G4,
(n)  To breakup suspended particles
\(l)/ To mix coagulants rapidly
() To mix chlorine
(d) To stabilize the water after
treatment
65. Aecration process removes excess of

from water

NG Carbon-di-oxide
Carbon-di-oxide and iron
(c)
(d)

Bacteria and virus

Hardness

The formula that is commonly used to

GG.
calculate the water {low in pipe system
(1) Manning's
);) Hazen — Williams
(c) Stokes
(d) Chezy's

67. Wholesome water means

){’e) Highly palatable and free of odour

water
: Spring water
(¢) Rainwater
K

Water which is [ree {from pathogens
and excess harmful substances
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68S. | .
UH e W RSESC TR Gl 105, ¥y | 68 If the Headlight Sight Distance on a

TR i @ I AT g1 2 highway 1s »] 05 m, whaF will blo the value
' of Intermediate Sight Distance?

(a) 183 m @ 183m

) . 102m (b) 102m

() 210m /@. 510 m

@ 316m (d) 316m

69. Y Wl & wy H P & aifog 0T 69. The desirable properties of soil as

highway material

(@) TEREr, HdZTar 3R TRl geear (a) Stability,  Compressibility  and
G Permanency of strength
() IR, "EIar 3R Ty Teedr (b) Instability, Compressibility and
o Permanency of strength
() ToRan, swdisgar 3R 3y geear () Stability, Incompressibility and
ey Temporary strength
(d) TEuRar, 3Edsgar i Hegar \m\ Stability, Incompressibility and

Permanency of strength

70. g 3afs &7 Mo sa9 & yang‘m ¥ | 70. This is the minimum water content

e A N TEEEE S 39 - requ_n'ed: to make the soil ﬂo“_’ under the
5 application of very small shearing force
AdH el FT AT §

(a) ©TATEes AT (a) Plastic limit
(b) W AT (b) Shrinkage limit
(c) @d H&Ar _A4er Liquid limit

(d) FHT FEAT (d) Moisture limit

71. Ffamifaar aafE 3 (CBR) ere us | 71. California Bearing Ratio (CBR) test is an

e ——— & empirical

(a) ufaeeE ¥ (a) Penetration Test
(b) FaREr & __(bY” Bearing test

() of ¥ (¢) Shear test

(d) TRl ¥ (d) Torsion Test

ICRB-d7fas sforgar ‘va.d. (RAfaen)-2023 o5
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72. A locomotive on a meter gauge track has

7 #Mex AFfed # 935 20 T - SLe
ek St u f three pairs of driving wheels each
g FE A F A S FRA ST carrying 20 tonnes. What maximum load

can it pull on a level track with a

glﬁ‘fuﬁ'mkmph‘:ﬁ:}%ﬁﬁma?
oy A9 oF W g JfUedd AR

curvature of 2 degrees at 50 kmph?

dT FFar &

(a) 1000 & (a) 1000 tonnes
(b) 2000 =1 (b) 2000 tonnes
(c) 1300 &= (c) 1300 tonnes
(d) 2500 &= (d) 2500 tonnes

The density index of sand was determined

73. ale] F UAT YAFF 65% fuiRa famar | 78 :
as 65%. The observed values of maximum

T W A AR e and minimum dry unit weights
SIEUI HFed Hfasan 3R T dHq corresponding to the loosest and densest

UF e AR F UBG TS FHAT states were 13.5 kN/m3 and 16.5'}:Nlm3

> - respectively. If the specific gravity is 2.65,

13.5 kN/m® 3R 165 kN/m? | afg what is the in-situ void ratio of the soil?

fafese gacg 2.65 & @ B &1 W=

HfaRFd Igard &1 22

(a) 0.66 (a) 0.66

() 0.40 (b) 0.40

() 0.32 (c) 0.32

(d) 0.58 (d) 0.58

74. 15 kN/m? gfac R UG 40 kPa & ®&aa | 74 What is the ultimate load carrying
capacity of a friction pile of 300 mm

T _g A W T 300 mm TR diameter and 10 m length placed in clayey

X 10 m &9 gYUT 9B AT WA @A soil of unit weight 15 kN/m?® and cohesion

STHAT T £7 0.8 & T FRF o 3R of 40 kPa? Take adhesion factor of 0.8 and
T . use IS Code method.

IS =z fafer Fr sTaATeT |

(a) 25.45kN (a) 25.45kN

(b) 327.04 kN }b;\ 327.04 kN

(c) 301.59kN () 301.59kN

(d) 22531kN /@\) 225.31 kN

ICRB-d=nfas sfdrgar ‘v’ (RAfaw@)-2023 96
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75. & Husa # Wacd Aisd fafy
& @A AT & AT AnErs §)

() T Fr AR
(b) TOF I

() e 1 ' O
(d & F S A

TG'W%ﬁ@WWWW

fAEaRoT (YTedic) ——— g aife)

(a) 30 mm ¥ FH

b) 40 mm ¥ FH

(© THA 9Bd F FEART F 10 T4 @
F®F FET

(d) U Uz & FAEART F 16 A A
3= ST8r

7. utH ¥ ¥ I3 fRe v oA F [T
THEIAT &1 0N (Cu) HR Tl F IOTH

(Co) BT =R

(a8 Cud4FIAVFIRNCc1U3F A
g =TT

() Cu 6 & W= 3 Cc 1 & 3 & &g
g a@ifgw

(¢) Cu 2 & 3fgew 3R Cc 1 & TN
grer aifge

(d) Cu 2 @ &# 3R Cc 1 & 3f&= g
arfgw

ICRB-4=nfas 3fgar wg.di’ (fafae)-2023
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75. The Proctor needle mgthod in f _
compaction 18 useful to quickly measure

the ——

(a) Thickness of layer

Q

(¢) DBulk density of soil

Compactive effort

(d) Water content of soil

76. The settlement of a pile group placed in
sandy soil should

(a) beless than 30 mm
(b) be less than 40 mm

.'(QL

not exceed 10 times the settlement
of a single pile

(d) not exceed 16 times the settlement

of a single pile

and
well

77. The coefficient of uniformity (Cu)
coefficient of curvature (Cc) for a
graded sand should be

(a) Cu must be greater than 4 and

Cc must be between 1 to 3
.ﬂzkgu must be greater than 6
¢ must be between 1 to 3

(¢) Cu must be greater than 2 and
Ccequal to 1

and

(d) Cu must be less than 2 and Cc must
be greater than 1
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8. TRy Wré avar ¥ 78. A milestone chart represents ———————=
(a) & &y gnfa i 20 () Delay in progress of work
b fafeesr afafaftat & g [eiar 1)  Interdependance of various
activities

Activitics in chronological order but
not in logieal sequence

() wffafogl FEs@@s w1 3 F, (©)
dafvad afds 7 & af)

(d) 3"1'?;3?{ Tl \Q All of the above

9. g 3maa F dAza 3111{0‘[ T z&ﬁt 79. If the unit of rectangular Moment of

Inertia is mf, what is the unit of Polar

m' g, @ W SAscd 3*“?5’? T ziﬁ?: 4t - M- went of Inertia
g?

(a) m? \(\u,? m?

(b) m | m

© m? (¢) m?

@ m (d m

The eclongation ratio of two isometric

80. gAY W8 W {AF HIH drer ar | 80.
material  having same  dimensions

IgEAfE werdt FoagE S 2id J subjected to same load is 2:4. The ratio of
ar g wegEAfgs gerdf & Fﬁg‘FI'H Eal the modulus of two isometric materials is
Feard gl

(a) 4:8 (a) 4:8

b)) 2:4 NI~

() 8:4 (c) 8:

(d) 4:2 (d 4:2
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APTITUDE / ABILITY TEST
81.

qﬁmﬁ“ﬁfﬁaﬂwm
(1 37)

Pleslwe

(@ A

®) B

(c) C

@ D
82. ﬁamﬁmqma%amﬁm%‘?
(2 37F)
a0¢ & 1a0( ras = Fr

7 \
Cranges shadng of 15t and 3d Rems Remaves shadng Irom 15t and 2nd fems |

]
anB B-E

7 ¢ %
Replaces 15l nem wih copy of 3rd gem

N D

Minors entve soquence n yam

TN TN
N a =

LY —) {\ C af
A B C
Oy @ @ or @ Crdy @

0

"® |

(a) A
(b) B
¢y C
(d D

ICRB-&afa® wfdaar ‘o€’ (fafae)-2023
Scientist/Engineer ‘SC’ (Civil)-2023

81.

82.

Find the replica image to the first (1 mark)

elels]sle

A < [}

&
(a) A
45 B
© C
d D
Which option replaces the question mark?
(2 marks)
[ a DG -’\‘_\ GC :‘i /sy Pas

| Changesgradmof tsland ¥ dems  Romoves $RaANQ fom 151 and 2 tems

a=B -0
Replaos 1t tem wth copy of %d 2em

/7 % YND
Khrrers entre sequence 0y aus

7~ . ./:_\3. '«\. ~

U+ \\;‘_:' 2/ SEY 4
A B € 0

"8 80 0 =@

b)) B
(0 C
@ D
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83, fnafama REedt F ¥ vE A, R
3 R aw g 1 A9l & (1 37)
SRS
(@) TS
(b) IS
() TN

(d TRy

84. g @ P,Q R, S T 3k U s+ |84

YEHUIT HTER H 98 ¢l

1. 39 9HR o= 9H T T el TAre
GEIEEZE]

P, Q a1 R & f&ec &y 78l &l

3. S,RIrT & AFeeaAe gl

4. QIR R FAFecey &

5 U,S3IRRF AT HEI
FTSAIAN T g W Fal T, &

b

fr W &7 (2 37)
(a Q
th) S
© R
(d U
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83.

Choose one of the following options that

s the opposite of the given word:

(1 mark)

mean

AWARE

(a) Uncertain g

(b) Ignorant -

(c)/ Sure -

(d) Doubtful

Six people P, Q, R, S, T and U are sitting

on the ground in a hexagonal shape.
1. All the sides of the hexagon, so

formed are of same length.
2 P is not adjacent to Q or R. ¢
3. SisnotadjacenttoRor T.
4. Q and R are adjacent,
5. Uisin the middle of S and R.

Who is at the same distance from S as T is

from S? (2 marks)
(@) Q
(b) S
c R
d U
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8. waF Red & T W I mean? 85,  Which one replaces the question mark?

(2 marks)

ABCD —>[s}—=[}(}—>-BCDZ

(2 31a)

BCDX Y

ZCD

BO>RI> ) |ABCH| B |0 B

n By , o 1

IEC>0> ABCI(| CBA |aBCT| B i B, C D
A B ¢ D

(@ A ‘f{)\/ A
o) B

(b) B
© C © C
d D d D
86. T2m 1: ZdIT 9= @ O 3y = 86.  Fact 1: Islands are surrounded by water.
o7 o 3—"113% . Fact 2: Maui is an island.
2 A" 8l Fact 3: Maui was formed by a volcano.
T2 3: A3S & AT v SaTIHGT If the first three statements are facts,
SaRT 31 ATl which of the following statements must

- also be a fact?
e GEd & A we TFmm § I: Mauiis surrounded by water.

FAa@g # O Fi9ar #3798 tF 927 4.  Allislands are formed by volcanoes.
I: All wvolcanoes are on islands.
qrigu? 51‘ (1 mark)
L A3 9 & A g gl
11: |l gdiT SaremEEEat @ gl
1 el SararHEr gddt 9w gl (130

(a) Fdd | Ccad/lonly

(b) Had Il (b) 1l only

(¢c) de 1l () Illonly

(d) aﬁ]‘g oY Fua AT T2 8T ¢ (d) None of the statements is a known
fact

ICRB-d=1fas sfdaar ‘ww.dr’ (Rfaw@)-2023 g,
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87 B2CD BCD4, B5CD, BCGD | 87. B2CD, ,  BCD4, B5CD, BC6D
(2 37F) (2 marks)
(a) B2C2D (a) B2C2D
(b) BC3D () BC3D
(c) B2C3D (c) B2C3D
(d) BCD7 @ BCD7

88.  ifaer & CUAYdE oA F1 3T AT | 88, Study the table carefully and answer the

. question given below
fou 717 9ot & IR &
Projected and Actual Production of Cars of 5

Projected and Actual Production of Cars of 5 Different cot'nplames
’ Different companies {Numbers in “000)
(Numbers in ‘000) s =2 i ¢ L) =
" 5 C - - ‘ Plalrlajrlalr{alr]a
Years 1987 |22 |20 (16 |12 |21 | 20|22 |16 (22 )20

P|A|P|lA|P|A|P|[A|P]A
1967 |22 (20|16 (12|21 |20 22|16 (2220
1988 |26 |21 |21 |14 |22 |18 (20 (18 (18|16
1989 (24 (22|15 |14 |26 |20 (22|21 (20|18
1990 {29 (23|14 |10 (30 |22)29 |23 (23|19
1991 |28 |21 |18 (15|34 (28|26 |24 (21|17
1992 (31 |20 (22 (18 |36 | 31|30 |28 |28 |26

P = Projected; A = Actual

1968 (26 |21 |21 114 |22 |18 (20 (18 |18 |16
1989 124 |22 |15 |14 |26 ]20( 22|21 |20]18
1990 129 123 |14 |10 |30 (22|29 |23 |23 |19
1991 |28 121|118 |15 |34 (28|26 |24 |21 |17
1992 |31 |20 |22 |18 |36 |31 |30 |28 [28]26

P = Projected; A = Actual

Which company has the highest actual

2o guf & fFg FU FT FRI S AEATdHR production of cars over these years?
SeqTEe T 3 57 (1 37%) Sl
(a) A (a A

(b) B (b) B

© C ~(c0 C

(d D gy D
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89.

T AT weet fgsy ay UG

o 2?7 |89,  Which option replaces the question mark?

< (1 mark)
(1 31)

A—
1. ,fl:é‘} . ’L:jg}'“

(a 1 (@) 1
Lt ®) 2
() 3 © 3

(d 4 \N\ 4
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90.

Hqt waEe Tor AR () A e 0.

¥ fav s ohew wem 739 av g,
AT @S H T A g T A
77 9% Afed wA, AR GEREEr 7 JA
o g geu AEas 71.7 9§ Shfdd WAl
sefd, IR R ¥ UF AaRakd
SI2 F S A WA IRAR qF FET T,
al 3AF gl & G A ®AE W
TRER & o= A H#fUw wEw aF SNfa
Ea &7 35 Y el
Afafed 7 @ =9 o, o v & o
IS A e v AR 1 ged @i
T ¥ FHAAX FEM? (1 37)
(2) € FON & wiiegdhifae F8 "ea
¢ & a8 (Hawail) o= & R

F HEd SlEw # Sedwdm g
ey
(b) TSI & TG A FTST JRT

¢ f& 379% 57 & IFs T &l
(c) garg (Hawaii) #r adAeT 3EEr &
&g AT JER AR w9
4 foeifta sRe a1 fear smar 2
d) wEfEaEr & wh v afdaa @
77 99 ¥ 3fUF AT oF Hfg w
$T 3FAE FX THA £
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The average life expectancy for the entire
States  (US)

73.9 years, born in Hawaii will live an

United population 1s
average of 77 years, and those born in
Louisiana, 71.7 years. If a newlywed
couple from Louisiana were to begin their
family in Hawaii, therefore, their children
would be expected to live longer than
would be the case if the family remained
in Louisiana.

Which of the following, if true, would most
seriously weaken the conclusion drawn in

the passage? (1 mark)

(a) Insurance company statisticians do
not believe that moving to Hawaii
will  significantly lengthen the
average Louisianan's life.

\ﬂs)\The governor of Louisiana has
falsely alleged that statistics for his

state are inaccurate
() The longevity ascribed to Hawaii's
current population is attributable

mostly to genetically determined
factors

(d)  Thirty percent of all Louisianans can
expect to live longer than 77 years

|
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90.

AU TE e mfa (qew) & ) 90

¥ v dwa Hed g 739 a¥ g,
A gas F FF o7 T ded IRdA
77 3§ Shfad @A, 3R qEfaEr 7 S+
99 e F=9 dtwad 71,7 a¥ SiRa W@
gafar, afy GERmmm & s aFafaRd
SIS N gAS A AT GRAR YE FIET o,
A sTF wEE F REREE 4 W W
IR N Jaar H 3RF gAY gF Afad
T S 3FAIE T FTuE)
fF=fofa 7 @ sla a1, o v & @
IR=Se A e 3T Avey 1 gaw iR
T § HAAR FEM? (1 3 ®)
(@) T FON F wARE a8 A=Y
¢ & g% (Hawaii) o7 & zfaamer

% dwd ofew # seowdm gR
el

(b) T F TG J BT AR S
¢ 39% U & IHFS T B

(c) &ag (Hawaii) $T adAT M€y 6
&eTg #1 47 HUFR HeERE §9
¥ fuifid sRet # 1 fer Srar

d) EREEr & @i & ufaad o
77 @9 § HOF gHT gF NEd @
&1 3FAE aX THd gl

ICRB-&anfas sifdar ‘wa.dl’ (RAfae)-20238 g4
Scientist/Engineer ‘SC’ (Civil)-2023

The average life expectancy for the entire
United  States (US)

73.9 years, born in Hawaii will live an

population  is

average of 77 years, and those born in
Louisiana, 71.7 years. If a newlywed
couple from Louisiana were to begin their
family in Hawaii, therefore, their children
would be expected to live longer than
would be the case if the family remained
in Louisiana.

Which of the following, if true, would most
seriously weaken the conclusion drawn in

the passage? (1 mark)

(a) Insurance company statisticians do
not believe that moving to Hawaii
will  significantly lengthen the
average Louisianan's life.

The governor of Louisiana has
falsely alleged that statistics for his
state are inaccurate

() The longevity ascribed to Hawaii's
current population is attributable
mostly to genetically determined
factors

(d) Thirty percent of all Louisianans can
expect to live longer than 77 vears
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8 91 Which one will replace the question mark?

, . 0 (1 mark)
5®6 7®6' 11
: ) 4 : g
2 5( 06 ?@a 11@2
- 2

7 4
@ 42
: (a) 42
®) 12
®) 12
(© 44
© 44
d 11
N 11
T 9T 377 :
i (137) | 92 Which one will replace the question mark?
(/ 1 8\""‘ (1 mark)
: N :
“x_ > | zz /J
@ 78 (a) 78
() 64 \to\ 64 -
© 75 © 75
(d 84 (d) 84
ICRB-&faa sfiar ‘waa, (Rfae)-2028 45

Scientist/Engineer ‘SC’ (Civil)-2023



https://applink.adda247.com/d/XhqWf9lSap

R A N L B i T . By M T W R e P SRR W=

Addal2i7

i arfraar wa . (R & 95 & o swdf

/‘ & R o - 2023 E
I |isro o
WRITTEN TEST FOR RECRUITMENT TO THR POST OIF B

SCIENTIST/ENGINEER *SC’ (CIVIL) - 2023

93.  gifeer &7 tuegds eaged v 3R M| Y3. Study the table carefully and answer the

_ questions given below
few 717 wed &7 AT &

Loans disbursed by five banks over the years

Loans disbursed by five banks over the years (in crores of rupees)
(in crores of rupees) Banks Years
Banks Years

1982 1983 1984 1985 1986

1982 1983 1984 1985 1936

18 23 45 30 70

I
I 18 23 45 30 70 I 27 33 18 41~ 37
o 27 33 18 41 37 m 29 29 22 17 11
I 29 29 22 17 11 v 31 16 28 32 43
I 31 16 28 32 413 \'4 13 19 27 34 42
v 13 18 27 34 42 Total | 118 120 140 154 203
Total | 118 120 140 154 203
In which bank was the disbursement of
1986 & T dF 7 HoT Iaror wofr i loans more than 25 percent of all banks in
¥ 25 wferra & fUF o (1 37) 19867 {L mark)
(@ 1 (a) I
(b) 1II B I
¢ I (9 I
d IV (d 1V

94 IAUF [0,1] F Th f(x)=x"+x’+x+1 |94 Find the point ¢ in the

curve
%g ¢ @, S 9% A T - f(x)=x®+x%+x+1in the interval [0, 1]
where slope of a tangent to a curve is
0.1 % S A W F TAT F A § equals to the slope of a line joining (0,1)
(2 3iF) (2 marks)
(a) 0.64 (a) 0.64
(b) 0.54 L 0.54
(c) 0.44 (c) 0.44
(d) 0.34 (d) 0.34
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3?4?{ g, a3k % £
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ala{g@aeﬁmﬁ%%%

mﬁ.mmammmg,,
T GUA R e oy 3Ry &

T HANGTHT B mmr N
Wﬁmaﬁmwm]

A I & T AT B iy
T 97T 93 (1 37%F)

(@) T NG T T o war men
eI AR w, e g
TRCATHYT Y FHS F FOT o &

b)  FHT URUREF FARTT rmumomt
FT Wse A1 3R wAT IR T &y
7 vl vt frar

© 30 Ze@Aw IR Foft & €9 wEw
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fhar W = R, afes
Hifadr & &9 W A Agea ot woma
T 3TeT

(d) 3HT HANT-FHT & HIUROM J2r
#1, AfeT Tcardyor f FHST W W
HI FGAdH YT 93T

The theory of relativity, develop?d by
Albert Einstein, revolutionized the f.le_ld of
physics. It challenged the traditional
Newtonian concepts of time, space, and
gravity. Einstein's theory proposed that
time and space are not absolute but are
interconnected dimensions that form a
four-dimensional fabric called space time.
It also introduced the concept of gravity as

the curvature of space time caused by the
presence of mass and energy.

What was the impact of Albert Einstein's
theory of relativity? (1 mark)

‘(E\It presented a new model of space

time and  revolutionized the

understanding of time, space, and
gravity

() It disproved the traditional
Newtonian concepts and established

the absolute nature of time and
space

(¢) It focused on the interplay between
mass and energy but did not

significantly impact the field of
physics

(d) It introduced the concept of space
time but had minimal influence on
the understanding of gravity

37
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